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1. Gpwublywljught 2087 650.0
Uniphp b hwgniuwn
1.1 Spbwlwts whunypbbp b
wubtywluwhl bynusbp X X 1087 650,0 X
i.1.1 e Ad T4 g 1000,2 350 030,0 35C,0
1.2 Brauge A dwiuligh [e24 b 250.0 1250,0 5,0
1.1.3 e pwwwiwl Ywwbpp phihg (£ hun 10U,0 15 0€0,0 150
04 A puwwbwl wpwqulwp [4 hwn 100,0 10 0C0,0 100
1.1.5 i wtieely shghixnpunnnp 80 0 [ huin 1000, 50 000.0 60
1.6 3 pwwwbwl rbghuwnpwinnp 60 Jd (23 huin 1000,2 50 000.0 50
1.7 A pwwwiwl rhghunpwinnn 40 Su 2 huwn 1000,3 50 000,0 50
1.1.8 D pwwwbwl LUnégwdnd dpwp Tl hwwn 100,0 5 Jou0 50
[ 119 | Trejhibpwit prpwwwlul ¢ | hun 250.0 5 200,0 20
1.1.10 Loawdubph pninp tiwbinhpny (24 huin 1400.0 2 5000 2
1.1.11 Lzndubph pring Gusniy (24 huwwn 300,C 9 200,0 30
(1,12 Loaudubph pnine Lugniy [ huin 300,C 18 GCO,0 G0
1.1.13 Londuliph pringe Yugnts (224 huwn 300,C 3003,0 10
1.1.14 _ [Opwahn [ huwn 15C0,0 225C0,0 15




@ 1.1.i5 Lnpwinbup wwpnypubpng [ aunn 200.0 2 00C.0 10
1116 |Lnpwnbup [ hwn 500,0 15 000,0 30
(RAL4 “hnp Yunpb nyugd £ nwwn 150,0 18 000,0 120
.18 [Ruuwbwl 16 J0 winwiwgdny [ huwin 250 750,0 30
1119 Quuywtaely 20 08 nnwdwgdny [ 4 i 50,0 1 500,0 30
1.1.20  [Ubrdwly 19 dd [ nnuh 300.0 30000 10
i1.2 Ubrdwy 25 Jd &< | wnuh 7200 18 000,0 25
1.1.22 Ubndwy 32 00 (29 nnuth 960,0 3 600,0 10
11,23 |Wdpwl bphupiw (14 wnnuh 180.0 3 000,0 50
1024 |Unéqund i nunw t< | wnuh 100.0 30000 30
1.4.25  |Ulpuwin TZ | hwan 230,0 2 200,0 10
11.26 Uwinhin-unuhd [ hwun 50,0 28 0000 a0
1127 |Uuwinpun-unuhsa GL hwin 350,0 5 25C,0 15
1.1.28  [Uwwnjwn HB 14 hwn 100,0 20 000,0 200 |
1.0.29  [Nutiwl gpuustyuilurht 18 0d (1< hww 100.0 2 000.0 20
11.30 |l gpuustywlu bt 9 dd tL hwin 100,0 2000.0 20
.31 MHawnhl o< hwu 100.0 7 200,0 75
i.1.32  [Muynhs gnhs o< hwin 400,0 4 000,0 10
1.1.33  |Ruchs yndhuny [ hwin 220,0 28 500,0 ‘30
i.1.34 Snhs qunhbuwdnp Guwnyn (4 huin 1200 24 000.0 200
i.1.35  |9phs qunpliwdop ul (74 hwin 120,0 5 000,0 50
1.1.36  |9nhs qughlwdnp Yupdhp LS | huwn 120,0 2 00,0 20
i.1.37 Snhs gunhlwynp Lubws < huwin 1200 120C,0 10
1.1.38  |Sphs gbynd Luaipin [ hwuwn 150,0 4 500.0 30
i.1.39  |9phs gbynd ul t< hwun 150,0 2 250,0 15
.. 490 Uwplbip whpuiwubtn Yupdhp (774 huan 280,0 4 200.0 15
1.1.41 Uwpybp wbpuwlibun ul 218 hwu 280,0 4 200,0 15
1142 [Vwplbp wbpiwlbin Yuuwnyn [ hwwn 280,0 4 200,0 15
.43 |Uwplbp CD-h [ huwn 40C.0 2 000,0 5
1144 |Uwplbp nbpunuwhl yupdhp [ huwin 350,0 6250,0 25
1145 Uwplilip nbpuunwiht juws (29 nwn 250,0 5 000,0 20
1146 |Uwplp nbpuwnwihts ninhl [ hww 250,0 6 250,0 25
1147 Ginpliah 40 ui W wyGh wpwdwgdng [ hww 1 800,0 3600.0 2
1148 | Mnquwinb pulint 30 ul zZ | hwwn 00,0 3000,0 10
1749 | Mnnuuink pulnb 50 ul t<_ | hwn 50,0 5500.0 10
L1.50  |Uphs dw.anhunp [ hwin 150.0 6 000,0 40

[ 7.1.51  [Uphs ubnwlpb wipwgynn < | hwwn 2 800,0 2 800,0 1
1.1.52  |Cwpihy ubnuwith [ hwin 30000 *5000,0 5
1.1.53 Opwgm!g ubinutp [ hwuwn 900,0 90000 10
1.1.54  |Opwgnyg wwnh (s hwun 3 600,0 '8 000,0 5
1.1.55  |Ubgwuh opwenygh tiwynpp =S hwn 1 400.0 1400,0 1 |
1.1.56 |£< pwpinbg qupswlwt Jb3 L hwin 4000,0 12002,0 3 |
1.1.57 |l dunswlwb pupinkia G (24 hwwn 40000 12 003,0 3
1.1.58  [4wphs N10 20k [ hwuwn 700,0 3 500,0 5
1159 |'wphs 246 t<. | huwn 1350.0 6 750,0 B
1160  |Ywphs 26/6 7S huwin 13500 6 750,0 5
1.1.61 Yuphsh wubn N 10 < unrih 100,0 2 000,0 20
1.1.62 Liwnhsh wubn 26/6 14 wnirtth 200,0 2 000.0 10
1.1.63 Uwwlwphy [ hwwn 250,0 730.0 3
1164 |Fulrs G&_| hwwn | 30000 15 00,0 5
1.1.65 Tupubbbn Gplhwppuw [ hwn 30C0,0 30 0000 10
1166 |Lpwlwed L hwn 4 000,0 40 000,0 10
11,67 |Jlns puthwiiahl TL hwun 30,0 1 500.0 50
1.1.6E ULy puthwighy dbd oL hwun 250,0 11 250,0 45




.69 |ewuwp Yuwnyin < | hwn 250,0 2 500,0 0
1170 |Untihinnah dwppuut htnndy (24 huwn 1600,0 16 D0D,0 10
1.1.71 Tpwp A 4 [ hwtn 50.0 2100.0 35
1172 |OpupAS (2 huwn 20.0 5000 25
LL73  [Puwbnb wwudwuk 30 ud o< hwuw 350,0 5 250,0 15
1.1.74 Qwpswiwt pupnbg PLUL | hwwn 1500,0 4500,0 3
LI75  [Upwqublwn PCUC | hwin 10C.0 3 002,0 130

1.2. Luigan b hwidwqgbuwn, z¢ s | 1000 000,0 1000 000,0 1
wy Eyned’
1.2.1 Yuiplyw Gl huep 1500,0 9000,0 6
1.2.2 Adbnughl pubtint [ huwip 15 (00,0 285 000.0 19
1.2.3 Polwnwnt Sdbnwht qifuwnly (ikhk) [ hisp 1400,0 8 400,0 6
1.2.4 Utylpew [ hwin 3500,0 21 000,0 3
125 m':’,‘;"“"' r widbtiopy t¢ | put. | 130000 78 000,0 5
(== 2. (@Gpphph, wiuwgpbph PCUL | gpwd | 350 000,0 350 000,0 1
3. Ukbigwnuyht Wynypkp 935 790,0
3.1. Uwithhqhtihly shongtiip X X 485 790,0 X
3.1 Ubglinnghly [ qh 130,0 325000 250
3.1.2 funtiuy wlstmnghl [ ih 190,0 3 800,0 20
313 2niqiepulih poinga (28 g 100,0 35003,0 350
3.1.4 Pngni pnn (24 i 1500 22 500,0 150
Sk Lunpwligh onp (23 hwiyn S0C,0 12 500,0 25
316 Unupph anp [ hwin 1 600.0 32 000,0 20
3.1.7 Unphs dtinph, Bpouh (24 heiip 750,0 15 000,10 20
3.1.8 Upphs wiiwtth (33 bzt 450,0 4 500.0 10
3.1.9 iy dfigng o Dhuljpw » [ fezip 270,0 5 940,0 22
3000 |Lyjwaph 3hgng « BINGO » dtmph & | haap 620,0 24 800,0 40
3.1 Udwb jwitegne htinnwy (14 heep 500.0 5 000,0 10
3.1.12 Uisghouslighon hfinnly o chunjlsy s [ ! 260,0 A 5000 25
3013 |Uwpwlh dwippigme hbanedy 23 g 400,0 3 000.0 20
3.1.14 el dwpnbin: dpgng < huie 400,0 4 C0C,0 0
3015 |Rmiquupwilr Jweptgnt htmod [ hwg 1000, 10 000.0 10
3.1.16 Uugmibig (79 hwip 30,0 1500,0 50
3107 |06wn 102¢ (14 huweg 240.0 24 000,0 100
3.1.18 | O6wn huugmyn (24 hwagr 150,0 7500,0 50
3.1.18  |<tigniy aSwn (79 { 520,0 23 400,0 45
3.1.20 | Odwnwdwl [ hwer 1600,C 16 000.0 10
3.1.21 Ldwgwpwile dwoptym funquativily (7S hwin 500,0 3 50C.0 7
2.1.22 | Lwipwl unm Sanuafiugn (1 hwen 1000,C 6 COC,0 &
3.1.23 | Udly o< Hwygr 900,0 36 000,C 40
2124 |Ynowepwl unquibwling tL | 1000,0 5 0,0 5
3.1.25 | 9nowphwl dnnry [ hwipn 1400,0 2 800,0 2
3126 |19y 44 hunp 600.0 900C.0 15
3.1.27  |Unpwdwh énbifrn bwdraptsm! L huin 3 000,0 18 000,0 &
3.1.28 |Unpwdwh chypwnyw dofupwdwbng [ flng1 7 000,0 35 000,0 il
3.1.29  |Unpwdwlh manwilynds [d4 e 3 500,0 350000 10
3.1.30  |<nupwgbndhs (44 g 370,0 5 550,0 15
2.1.31 Swiuwdby 4 nenp 17000 25 500,0 15
;':' :"”‘"““‘"“"’ U uy| hgnglibn, uiyn npun | 4500000 | 4500000 1
n
Upulpdwl Jhipbles SWBS-16E2 PLUL | nuap 6 300,0 12 600,0 P
Nupdwu’ cwly pure. 500 I PLUL | nuep 47 040,0 47 040,0 1
Uhwty whnonuwly 6 JJ PLUL | huep 300,0 45 600,0 152




Unyby wybrporpuly 8 ¢ POUL | huny 30.0 3120.0 104
Ygnnnts (2qpnGbn) POUL | huap 70,0 43 430,0 620
4. Sunnnily buyjwinuwljuwjhis % 2 3 054 800,0 i
wj) ympbin
4.1. Chuwbynip % X X 779 700,0 X
Ubpy (i5 Gg ynwp:) LLUC | hn 31.000,0 27 00,0 7
Lbply (15 g yuupes) PLUL | hunn 30 000,0 240 000,0 b
Ubpy dwbguilpgnid (Guplhn | g) FOUC | hwin 1 800,0 1800.,0 i
Lhipyy dwhquiljand (dofupwg. 4,5 4g) | FOUZ | huan 6 400.0 6 400,0 ]
Litipiy bhepnn (1 Gg) POUL | huwn 21000 2100,0 !
LUbply 2,5 43) POUZ | hunp 5 900,0 59000 I
Upnby POUL | hunp 1 550,0 15 500,0 10
Znhwpnine POJC | o 1 500,0 45 000,0 3
Undpb POUL | huwp 8000 16 000,0 20
dndph PRUL | hunp 5000 500,0 i
dndhb BOUZ | hasp 300,0 900.0 T
Updhls PRUL | hwp 650,0 1950,0 3
gl ELUC | hanp 750,0 16 500,0 22
dwhly POUL | hunp 3 £0C,0 7000,0 2
<Lwghlh wng pOUS | kg 4000 2 800,0 7
gl wiris PCUL | hunn 500.0 1000,0 2
Jwighigh ann POUL | byt 3 000,0 3 000.0 {
Ywihleh wiks POUL | hunp 2 000,0 4000.0 2
1 s 11, POUL | Puwe | 11000 12100,0 i
Lnhwrnrh gl POUL | hunp 2 000,0 10 000,0 5
Ulgns FOUS | hunp 700.0 1400,0 2
g&Ukinn 50 g RFLUL | haap 3360,0 30 24C,0 g
ghdbinn 25 g uwhuwly PRUL | hunp 4 4400 22 200,0 5
wywq Ywpguihi PRUL | hunp 300,0 9030,0 30
qug 40 g PRUL | hanp 1800,0 90300 5
quip 45 g ACUL | heanp 170C,0 8 500,0 5
MU unuhla 3 4g SOUL | hwgp | 33600 3 350.0 ]
futwpund 2PUL | pedl. 2500,0 80 000,0 32
wpdwbljw pphqgh 20U | huen 3500.0 7 (00,0 2
Swpdwhlh quu. POUL | huwp 1 500,0 1500.0 !
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4.2, Qwlwlwpymwiht Yuwtibph
uwuwnlpiwt bynptp, wiy pynud X % 590.000,0 ‘
4.21
422
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0,0
0,0
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4.3. Shjutpywlwl uvwpphp, iynptp L X X 875100,0 1
wwnwquubp
(hgholuwpul VX - 2100 PCUL | nunp 195 000,0 195 000,0 I




<tmwluny Panasons. peUL | hagp 36 000,0 36 000.0 !
Qnp wdy COP 158 POUC | hugp | 380000 38 000,0 ]
Bnp wmluy Simgi PCUL | huap 175 000,0 175 00D,0 /
Mndugh heepaguninnfis PPUC | haap 11000,0 11000.0 !
Punnb 12 wr. PRUL | huap 10 000,70 10 000,C !
Sph ipwpusgnighs PLUL | fuan 23 000.0 23 0000 1
Uy wwpwgquwlbn FOUL | ppwd 52 800,0 52 3000 !
2onwiyni@ dnw AL POUL | hug 1000,0 10 00L,U 10
Annwdymg udnig PLUL | hwyr 4 500,0 22 500,0 5
Qlipdunhts wywhndhs PLUZ | huep 250.0 500,0 2
Gtpnbipwliwhic nghtilan PRUL | qnup 1000,0 1000,0 1
Uwpeplyng 12 | 7 wid FLUZ | hugp | 100000 40 D0D,0 4
Ywipepling 3.7 2000 du/c Mng pndy’ PRUL | hunp 3500,0 42 200,0 2
Uwpaplyng 1,2 yf 2200 duwy/d UL POIL | hunp 18000 10 502,0 6
Y
25";“'-':,‘ Wi FCTOIER SUPPL peuc | hwp | 75000 22'500,0 3
2nnhy  MAANBHKK 860 60W UL | huwp 20000 6 000,0 3
Qnnhy  NAANGHWK KS-100R 100W BOUC | hwep | 2800,0 8 400,0 3
Gnpdhp 6PCS SCREWDRIWER 5-3604 | PLUS | hwypn 1000,0 2 000,0 2
:2';&"“ HABOP OTBEPOK DESA077 8| noiie | pogp | 2200.0 2200,0 7
Qnpshp HABOP WECTHUIPAH AL101 FOUC | hunp 120Q,0» 1200,0 i
%npdhp hwppwynine STAREX Neb PRUL | huwin 1300.0 26000 2
::néhn {dupguli MICRO CUTTER CN- | prijne | . | 3000.0 3 000,0 1
Gnpéhp howpgul CUTTER PN-150 PoUC | hwep | 20000 2 000,0 7
Snp&hp NIPPER SON-T502 P2UL | huep 850,0 850,0 !
2nnhsh Swypwljw POUL | by 1000,0 5000,0 5
:‘;‘; ;"‘"‘l"""h* i pouc | hunp | 26000,0 26 000,0 :
wpmnyng Ak 2700ma YARTA POUL | huwen | 30000 18 000,0 5
Eyb Gt DURACELL AAA PRUC | huiep 300,0 4 500,0 5
Uwpnlng 12Y 7.24 BOSFA PRUL | hwip 10 000,0 100 000U 0
Ebdbuw 9V SUPFR EYEREADY PRUL | hweyn 550,0 3 250,0 5
4.4. Wy tymypbip L wwpugquitip,
= = X X 900 000,0 900 000,0 1
hbpbulusnit punwip fopwitid! PLUC | gbd 343.3 73328,3 2136
hhpbwlugsmb puwnwie Awyoyyy FOUC | gdd 3433 36 671, 10€,8
hbpbulugl pwnqwig UNL (nge! PeUL | ke 2500,0 10 000,0 40 |
phpbwlysmb puqwip AL ingr/ PeUL | hwepn 20000 48 000,0 24
5. Spwhuwynpuniwhs bynuyatip X X 18 460 000.0 X
5.1.dwnbhph dwhiubip X X 19 450 000,0 42 509&
5.1.1 Phitighb (24 I 460,00 15 410 Q20 33 500.0
5.1.2 Wpgbjunhl Yunbiyfp TL ! 450,0 4 050 000,0 Q000.9
6. Cwiwlwpgswiht L
u
ipintistekaitie o | x X 2703 600,0 X
uwppwynpnidbp b Wynpbn,
win pynus*




6.1 Lundleetlyusng hsyhls hus:fuspusden (24 husip 350 000,0 350 200,0 i
6.2 Swdwywnghsuyhl hufwpudn (24 hwin 240 000.0 960 00D,0 4
6.3 Swlwywngiwihb yhnbin puny [ hwng 40 D000 120 000,0 3
6.4 Ludusywngiuihb dntipipnp s hwin 70 200.0 210 000,0 3
Urpbrtiuspup-tlylshly Microsoit Wireless ’ B
=
6.5 b it Taiaf hiaRosnatis [ hagi 19 000,0 76 000,0 4
5.6 VGA thnfuwpishs L hwin 4 500,0 18 COC,0 4
6.7 VGA hwanprwwp (10 dtppuibng) (7S hawngy 12 000,0 43 000,0 4
5.8 USB HDD external ith (7 hunp 42 002,0 42 COC,0 !
5.9 £uwpenhg Canon 303,02612 | T hen 42 000,0 42 COC,0 7
6.10 Fuwpnpnhe Canon 275 L hung 33 200,0 33 0000 J
gap |y HE10C QOCARrenlel | oo | puip 3 000,0 18 000,0 6
hudwn
6.12 Enyinpdpneg Conon 728, 275 pupynfiph o< e 3 000,0 0000 3
Duwdn .
gig,  |Courand Neron Flisle G g¢ | hap | 50000 12 000,0 2
pwonhoh huwdwn
Toner Cartridge Canon iR 2420
: £ 2
6.4 R Y T [ hungp 0 400,0 20 40C,0 7
6.15 Snbiip Toner HP 1200, (4 hunp 14 000,C 14 000,0 !
616 Snhizp Taner P 1O05006 (s hunp 1 500.,0 7 500.0 5
6.17 Snbiop Toner for Xerox Phaster 3124 29 hunp 2000,0 2 000.0 1.0
6.18 Lnnyapnip [ husp 238 000,2 238 000,0 1,0
6.19 Unbhyinp [ b 97 000,0° 97 COC,0 1.0
6.20 Swibguuhh hednanwipon (Switch) 74 b 52 0000 104 000,0 2,0
6.2 Owbnewphy hipnnnyaind £ by 210000 42000,0 2,0
6.22 Ouybpunphy higrnayaynds [ Funa 11 000,0 22 000,0 2,0
6.23 Ynaip vijwywnwy c< byt 27 000,0 54 00C.0 2.0
6.24 USB 5 hhannniaynil 32 GB (]S hunn 10 200,0 10 200,0 1.0
6.25 LIS $itz hhonnogrels 16 GB (4 byt 5 £00.0 £ 500.0 1.0
6.26 USB $ibiz bpprnagynd 8 GB (74 by 420C,0 21 000,0 5,0
6.27 Swiiuluipgsughly dhgbn punip POUL | Fwyr 22 500,C 45 00C,0 2,0
6.23 Lwiwlwnguuahl dhnbin pwniyp PCUL | hunpn 33 000,0 33 C0C.0 1,0
6.29 Lnnyapniph wugnwwl POUL | kunn 3 000,0 5 000.0 1.0
£.30 PCLAN POUL | huwp 3000.0 £ 0000 2,0
6.31 | dbp pouwfughly POUL | fuip | 4000,0 g 000.0 2,0
6.32 Uty wipup PRUL | ke 11 000,0 1" 000,0 1.0
£.33 Lwndwlwnguuihl wipwtiowljuy PCUL | hunp 5 000,0 10 000,0 2,0
6.34 Ui hedwlwngsunhl netp POUL | nowd 10 000,C 10 000,0 1,0
7. fwluwlwpluwiht
it anpuinupipivt 450000 | 945000,0 21
hwdwp vwppbp L
uwppunpnudibp
71 Uwpnepyng 100 A POUL | ppwd 45 000,0 945 000,0 21
8. Munhnnjwghnt ujywiitkph
uyywuwpldwy hwdwp vwppbp 4500 000,0 | S000000,0 2
uwppwynpnudubp
8.1 Uwebbipnnt A 316 me Fun | 4500000,0 9 000 000,0 2
8,2 UVweqbbppnt MM 297 ae twep | 1500 000,0 | 500 000,2 1
9. Yynunuistin bumljut POUS | ppwd | 3700,0 253 000,0 70

pntiwlyniphbp




Seppnbieon PoUL ! 3700,0 259 000.0 70
10. Ypuubtywlwih gnyp PRUS | gpuwd | 65 000,0 65 000,0 1
10.1 Utpumw wwhwnwb POUL | hwy 65 000.0 65 000,0 1.0
1. Spwubtywluwiht Ywhnyp < X 776 200,0
1.7 “Whunjuiph wbnuls [ hwyr 100 030,0 100 000,90 1
1.2 Fnweywnwmut (4 b 70 0000 70 202,0 1
1.3 Lwiuiljuwpgsuipl bt (74 fiwg 20 000,0 20 200,0 1
1.4 Swnwljwpgswihl weon 28 huwip 25000,0 200 000,0 8
1.5 Uwhbulyug (2 fhan 54 800,0 218 200,0 4
1.6 Upnn thugyw [ huip 9 D00,0 72 000, 8
nz Fnwulibpulunhb wienn PLUZ huin 50 000,0 50 202,0 1
1.8 Lugbif PCUL  haap 25 000,0 25 000,C 1
.7 Yushupys BRUL | huup 20 000,20 20 0000 1
12.
anopwip b pdgulwtiugy | 0y s | 1000000 | 100000,0 1
uhgnguibp L wwpwquiutp
Il TUAUSNPR3NRLLED 23 400 000,0 X
1. Eubpgbinhl swnwjnipymbinbp X X 5 500 000,0 X
7).7.' Ltbmqbphly dwnugnyaindibbn BOUL | npusd | 5500 000,0 5 500 000,0 0
2 w ubp, i
Undmitw Swnwynynitibp % % 300 000,0 n
wjn pynid
20 |Prudwguunupdut bopuhbrugdl | onge | oue | 300 000.0 300 000,0 Lo
deeemugengyrebibibin
3. Yuwh dww nynitikp, X % 3 900 000,0 %
win pYnuf
3.1 bunbpttinn b wyt X X 1920 000,0 X
3.1.7 hlipbplibp Guiy OLUL | frunS 970 000,0 970 000,0 1,0
3.1.2 Liyy COUL | gpud 950 000,0 950 000,0 1,0
3.2 Popunshy Gruwgh dwnwynipynitisbn PLUL | ppunf | 950 000,0 950 000,0 10
3.3 Pnunwhb dwrwmpnitiitin PLUL | ppwd 30 000,0 30 000,0 1,0
. h U
4: Unpmhdugrni X X 950 000,0 X
bwnwjmmqm'ubp, unn pyYnd
ey | gt PeUS | guuwd | 9500000 | 950 000.0 10
weywwhrywannisind
5 Bnuypl buwppuidapafibinh X X 1700 000,0 X
Jwpswluwinypinia, win pymd
51 |Mpuellh puipucph PoU< | gouns | 1700000,0 | 17900000 1,0
Yundwlwnyan
7. uwnwlwaqih dwutiwgh-
nwljwt qupgqugdwl X X 400 000,0 X
Swnwinipintutibp
7p  |Veenephon wbdbeduiqlp pEptpw- | oo |y | 4000000 | 400 000.0 10
Duwlput dorwwunpmuogingd
8. Spwuuwynpunwihl
uwppwynpmdibbph ptpwghl X X 5 300 000,0 X
unpngnud b wwhwwiond
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Spubuynppught Uhonglibnh
pbfubhliwiuts vupuwwuniwl

&8.2.1 dwinwynyaynibity, wyi feydrnud PRUC | pawd | 5 3000C0,0 5300 000,0 1.0
uowpldwt hunwp whnpwdlig
ujwpugutibn
9. hdwiywo Snt-
Upusamisabdiityuis g X X 850 000,0 X
nnidtubiph qény dwhiukn
Snpdnnnudbiph pnwluynnught z
.1 ’ a ; 5i i g
8, B R Bhanid) AoUL | ppwe 350 000,0 850 0000 1,0
10, USL oUkUGP X X 6 350 000,0 X
i 10.1 Uy) pipwehly whiubp X X 6 350 000,0
10.1.1 Fuwququubinptitph Yipwbnpngnuf PRUL | npund | 950 C00.0 850 000,0 1,0
10.1.2 Quwququulingtibnh thapsunlaud PLUC | npud 900 C00.0 ana 000,0 1,0
Sthubbudiwt wlpwbgnguwt 2
‘0.1, . LR ! d l R §
0.1.3 dnpduptiiospinits fopblih wshusbo) PLLC | gpwd | 4000 000,0 4000 000,0 1.0
10.1.4 L0 hudwlungh vywowplons POUC | geunf | 200 000,0 200 000,0 1.0
i01.5 Swpugpuwluts Swawyragnididdn POUL | yped 150 000,0 130 000,0 1,C
10.1.6 Thugfolpuubitdpf Jlnwbnpngoul POULS | npwd 50 020:0 150 0000 1,0
Il UTRUSTLR 0,0
CLRHUUBLE X X 63 137 040,0 X




